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Evaluate the six trigonometric functions of the angle £
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Let ¢ be an acute angle of a right friangle. Find the vaives of the ather five

trigonometric functions of 4,
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Find the exaet values of xand y.
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Find the exact values of x and y. r
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Solve ADEF using the diagram and the given measurements.
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Solve A ABC using ihe dia_agfam and the given measuremenis.
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18. Shadow A flagpole projects a shadow on the ground that =~ == tan20° = X

is 26 feet long. The angle of elevation is 30°, What is the
approximate height of the flagpole? 4
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14. Trees A hiker stands x feet from the base of a 24 foot tall
tree, The angle of elevation to the top of the tree is 45°,
How far is the hiker from the base?
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13. Shadow A person casts the shadow shown,
What is the approximate height of the person?
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14. Mountains A hiker at the top of a- mountam sees a farm and an ajrport in the distance. T o
a. What is the distance 4 from
the hiker to the farm?

b. What is the distance y from
the farm to the airport?
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Convert the degree measure to radians or the radian measure to degrees.
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Find the arc length and area of a sector with the given radius r and
central angle 6.
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position to evaluate the six trigonometric functions of 6. Fing +he refevence CU’l_fj{C |!
. — ]
® 1. (=15, -8) 2. (1, -1y 3. (1,v3) 4. (—3,4) :
— 41 z -2 g ‘ . ) -
IS \ ne = ' 1 \ @ 5
32 Cose 2715 o 119
-\*cma = |
i Sné=-1 - gng =y 8o = 3&
V2 2 2 oot
YP; &= (N ,ﬂlg:! \r.. cone s
e 1 N2 e o= L o= 2
tan = _&% (o J;—;_ ) oses 2 &
\S Sece= 17 ‘ Moon® =4
Yo )(B)5)=0 A P Yanoz V3 ety
l ) : ‘.
[] - . — i
&=281  cole=is . toco= 2V3 Cecoz § |
% ceco=-V2 > m |
secd= 3 |
- Sece = 2 Cece=--% |
Cot & = ~| _ '
. CO+6 - !.—3- +Q ' 3
ref L =4s° ® core = w*q“'
Ye§ L= b o |
ref £L=53.1 |
|
Find the measure of the angle 4.
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Use the given point on the terminal side of an angle 0 in standard ' '
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